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A RLIREN

daadical) bo gladdl  Sbadl acu ) (baslaa
Coordinates, Graphs, Lines:
1 - Real Numbers: :dadadalll olasy - 1
das okl dassiall slacyl de gans —
a) The Set of all Positive Integers:
25 ZF 505 Lual) Zaaall slae¥) desans ) e
7Z+={0,1,2,3,4, ........ }
dalleud) dasaall slasy) de gaas — O
b) The Set of all Negative Integers:
25 Z 50,06 Llaal) Zasaall oYl degans M e
Z ={0,-1,-2,-3,4, ... }
iydall fas Lo dua ol dasaall wlasY ds gaas —
¢) The Set of all Possitive Integers Excipt Zero:
25 (2" 300l siall lae Lo Lall dagaiall slac¥l degans () 5o
(Z**=1{1,2,3,4, ......... }
Al Jae Lo Dbl daanall olasy! de gans — &
d) The Set of all Negative Integers Excipt Zero:
25 (Z7) 30,06 aeall fae Lo LIl Zam ) slael degane ) o
Z7Y ={-1,-2,-3, 4, ... }
daaaall slasy! de gaso — ¢
e) The Set of all Integers:
(29 Z yo )b dasaall slac¥l degans I oy
Z=A{..... ,-4,-3,-2,-1,0,1,2,3,4, ......... }



Jo¥I Jeadll

Al fas Lo daanall slasy) de gana — z
f) The Set of all Integers Excipt Zero:

it Z 5ol sl fae L damiall slaeYl degans M e

dasaaball oluct ds gano — +
g) The Set of all Natural Integers:
525 N 3,1l Tundall oae¥ Zesane M e
N={0,1,2,3,4, .. }
Al fae Lo dazaslall slasy! de gano — o
h) The Set of all Natural Integers Excipt Zero:

ot N7 el saall fue Lo Zonadall slae¥) degane () So

Remark (I): : (1) &

N=27", Nx=(Z"*

sl slasy) de gana — 3
n) The Set of all Rational Numbers:

25 Q 3ol Tunel) el e gans M

—{ 4
Q ={ 5
Remark (2): 1 (2) daado

,a, be Z,b 0}

sl jal olael de ganoe — 3
k) The Set of all Irrational Numbers:

K {%:a, beZ,b 0)
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Lo Bypem e LS oK ¥ 0 olae¥) 8 el ud slae¥l e pono 1 yas

adadall slasy) de gana —
Jj) The Set of all Real Numbers:
¢ R 5e,JU Gall slae¥l degane I oy

R=QUK
das b olasy) - 2
2) Complex Numbers:

i SOU saall Loladl 3, g NE-TPE R

Z=a+bi abe R , i=Vv-1

:dalasil) afasy) -3
3) Imaginary Numbers:
1) @) Laadall sue alacY o Llasll slae¥l (Ao yas

(3)Remark : : (3) daaNe

N CZC QC RC setof complex numbeers
A slael Lwed SI (1) JUis
Solution : : o Jadl

—|o

A e slael Wld X :(2) JUie

Solution : 2 Jadl

V2O . N5 . AT » Cosl?, 1+ \/2_,3+\/5_,1+3\/5_
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A yo alael Laad SI:(3) JUiso

Solution : s Jadl

Z1=4+51 , Z,=3+0)i , Z3=5-21 , Zy=-T-1 , Zs=11+0i
Remark (4): : (4) dase
Ayl LEULa S YA oo Fanil s Tanesil] Slae¥] g sl (S
Remark (5): 1 (5) AN
Yol s gsles 08 3, S &ydall BB 8,580 & yde SUA Ll Lol slacY)
(e sl

5,50 D ytiall LEBla duveas luel BW _3S) (4) Jlis

Solution : 2 Jadl
4 _1333....
3
% =0.[27]27]27].......

Solution : s Jadl
L _
> =05000...
12
T =3000 ..
8 2032000 ...
2
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